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lha = 100m x 100m = 10000 m? = 100 a
1km?2 = 1000 m x 1000 m
= 1000000 m? = 10000 a = 100 ha
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 24km? = 2400 ha = 240000 a = 24000000 m?
(2) 86 ha = 8600 a = 860000 m? = 0.86 km?
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1km? = 100 ha = 10000a = 1000000 m?
3km? = 300 ha = 30000a
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100 m? = 1a, 100a = 1 ha
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10000 m? = 100a = 1 ha
58000 m? = 580a = 5.8 ha
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1km? = 100 ha = 10000a = 1000000 m?
80a = 0.008 km?
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1km? = 100 ha = 10000a = 1000000 m?
25000000 m? = 25 km?
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1km? = 100 ha = 1000000 m?
4.7km? = 470 ha = 4700000 m?
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1km? = 100 ha = 10000 a = 1000000 m?2
(1) 500 ha = 5km?

(2) 20300000 m? = 2030 ha

(3) 7000000 m? = 7 km?
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(1) 9ha = 90000 m?
(2) 5km? = 5000000 m?
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1km? = 100 ha = 10000 a = 1000000 m?2
L

(1) 6200 ha = 62 km?

(2) 27km? = 2700002 QY T}.




17. [ kol Solz ol 7 L.
600a=[ Jha=[ Jkm?
> E

> HE 6.06

1km? = 100ha = 10000a = 1000000m>
600a = 6ha = 0.06km?
oSt S0 9] 32 6 + 0.06 = 6.06 YUYt}
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1km? = 100 ha = 10000a = 1000000 m?
2.8km? = 280 ha
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7km X 5km = 35km? = 3500 ha
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9 X 6 = 54(km?) = 5400 ha
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400 x 400 = 160000 m? = 16 ha
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1km? = 100ha = 10000a = 1000000m?2
5.1km? = 510ha = 51000a
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1km? = 100 ha = 10000a = 1000000 m?
(1) 14a = 1400 m? = 0.14 ha
(2) 20.3km? = 2030000 m? = 20300a = 203 ha
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1km? = 100 ha = 10000a = 1000000 m?
(1) 7ha = 700a = 70000 m?

(2) 0.2ha = 20a = 2000 m?

(3) 4km? = 400 ha = 40000a
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1km? = 100 ha = 10000a = 1000000 m?
4km X 7km = 28 km?
28 km? = 2800 ha = 28000000 m?
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1km? = 100 ha = 10000a = 1000000 m?
3km x 6km = 18km? 18km? = 1800 ha = 180000a
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4m? = 40000 cm? > 39000 cm?
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5.6 ha = 56000 m? < 550000 cm?
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1t = 1000kg = 1000000 g
(1) 4t = 4000kg

(2) 30g = 0.03kg

(3) 0.05t = 50000 g

(4) 6kg = 0.006
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12400000 g = 12400 kg = 12.4t
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1t = 1000kg = 1000000 g
50600 g = 0.0506 t
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1g =0.001kg
0.001 kg = 0.000001 t
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1kg = 1000g, 1t = 1000kg
2.9kg = 2.9 x 1000 = 2900 g
4.5t = 4.5 x 1000 = 4500 kg
[ ]otell B2 5o g

2900 4 4500 = 7400 Y t}.
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1kg = 1000g , 1t = 1000 kg
1t = 1000 kg = 1000000 g
1t = 1000kg = 1000000 g




